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Mental & Oral Starter

) Find 575 = 5
2)  What is 249 X 3?
3) Multiply Il by 12

4Y)  Round 4,523 to the nearest 100




Mental & Oral Starter

) Find 575 = 5 15
2) Whatis249 X 3? 747
3) Multiply Il by 12 132

4Y)  Round 4,523 to the nearest 100

4,000



White

WALT: Convert between km and m

S2S: 1 can
- Understand what the term ‘equivalent” means
- Recognise that 1km is equivalent to 1000m

- Use different representations to convert between
km and m



https://vimeo.com/46814408€







1) Complete the sequence.
1,000 2,000 3,000

2) How many thousands are in 4,8327?

3) Complete the part-whole model.



1) Complete the sequence.
1,000 2,000 3,000 4,000 5,000

2) How many thousands are in 4,8327?

4 thousands

3) Complete the part-whole model.

9,000 @
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[ kilometres ]

0O 1,000 2,000 3,000 4,000 5,000 6,000 7,000 8,000 9,000 10,000

0 1 2 3 4 5 6 7 8 9 10
II I I

[ metres ]

18 liék ~+ ZB@MOG6mm



4,250
4,200
4,150
4,100
4,050
4,000

4 km 250 m
4 km 200 m
4 km 150 m
4 km 100 m

4 km 50 m
4 km [kmand m]
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Earm)

Have a go at questions

1 — 3 on the worksheet @




1 km = 1,000 m
1,000 - 800 = 200

2 km =2,000 m

600 + 200 =
2,000 - 800 =

300

1,200

2 km

600 m

200 m

1,200 m







Annie hasrun 4 1,2 kilometres
How many metres has she run?

4,500 m
12 of 1km 1,2 of 1,000m 1,000 m +2= 500 m



Teddy has run 2 1,4 kaj
How many metres does he have left to run?

ZOogre)OO 3356500 2750m 3,0?Om

- JI'eddyzlp/a,s 2 756/gnetr5—3§/ieft tgkr

1,000 ~ 4 =

250



o Tuey 2

Have a go at the rest of @
the worksheet




